10X 13 FT

fooooooonD HWG-013 000000D00°T

P

At least need 3person work together

REQUIRED TOOLS




13ft

}301




2x

©2x

@4x

®2x

@4x

\
2 ax

OMNNS

@4x

@4x

2x

@Zx

@GX

@4x

@Zx

@4x




<>
(T) 4x (U) 112x (V) 4x (Y) 20x
S4
& O e
(Y1) 12x (Z) 2x 1x
O P O
M6x15 M6x10 M5x12 ST4.8x12
(1)103x (2)32x (3) 48x (4) 24x
5 O @60 wmy —) @
ST4x8

(8) 12x

1x




<1>







NN

Y7

g4

o

M5x12

(3)32x




<5h>

®4x

M6x15
@ 8x




ST4.8x12

@ 24X

<6>







10

Note:

1. Let one person stand on the ladder to lift
"L "and hold,and let others fasten the screws
connecting both ends of " D ".

2. Please do not let go of holding " L " until
all the " D " screws are installed.




il
@

M6x15
@ 18x

11




égéééég <10>

12










///
N
N

\\\
/1
/1

=\

\\
y
\\
v

\\\
)

4
\\

QI == EQ

//
N
N
N
N

//
N
//
N

=
@4x

4x

15




55XC5 2
m v|. m m .m m M i h X
— N\\W\ 7 \,\ Q
o \ \% %/o.. Y
o) ) WA WY @
é&////ﬂ/
W 4»@.%/ /
PA A\ (Y,
\ 7
\¥

16




e @

¢

\..U:V

17




L

é;%ﬂ <16>

®4x

18







00wy —)

(8) 12x

20

<18>

Note:

1. 1stick 2 tie S and T together
2. 1 stick 3 towards back tie T
3. 1 stick 3 towards front tie S




	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)
	9012C（H） 说明书 Model (1)

